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IMassageliges:

+ namal() : String

+ hashSizal) : in:

+blockSizal) : int

+ updataib: byta) : vaid

+ updatalin: by:a[loffsat: int langth: int) : void
+digest(: byal]

+ resa:() :vaid

+salfTas:() : boolkan

+chnall: Chpc

HashFactary

==craaas= - HashFaco()

+ge:lnsancalnama: Sinng) : IMessageDigas:

Names(1. §

BaseHash

# mama: String

# hashSize: int
#blockSiza : int
#coun: : kbng

& butfar : byial]

Shat1&d

zecraaass + Shaléd()

z<craaas= - Sha18d{md: Shaléd)

+3(hhd: im, hh1:in:hh2: in: hh3: inshh4: intin:byallefse: int :int]

ze=craatas= # BaseHashinama: String, hashSiza: int blockSiza: int)
+ nama() : Sring

+ hashSizal): im

+blckSizall : int

+ updataib: byta) : vaid

+ updatalb: by:e[] offsat: im,lan: int) : void
+diges(): bya[]

+ msatf) :vod

+ clonef] - Object

+ selfTest) : boolean

# padBuflerf] : byta(]

# petResullf] - bytal]

# resetContact] : void

# ramsformiin: bytel, offset: int| : void

+chknal): Chjpc

#transarmiin: by:e[] ,offsat: im) : vaid
#padBiriar() : byal]

#ge:Fasukl) : byia[]

# resaiConex() : vod

+=afTes () : boolean

-shaihhO: in:,hh1:in:hh2: in:hh3: inihh4: intin: byvie[l.ofsa: int il




